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0-0005

1)
679, 799
2)
5564, 375
3)
60, 950
4)
60, 950
sJ)
5 60, 950 06091
3)
63,630
4)
63,630
(Gp)
3 _Gp-Bp-2B ]
[ ]20m
‘ 3 m 63, 630 06091
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0-0006

i 3)
| 204,500
| +)
| 204,500
| (
3 25m 0
| 1 204,500 060091
| >)
| 221,400
| +)
| 221,400
| )
G N S SN
: 0. 1m3
1 221,400 060091
3)
5,490
4)
5,490
(Gp)
3 m 5,490 060091
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0-0007

3)
- 1,595
4)
- 1,595
co( )
DI D 14. 4km 10. 9km )
| 0. O3 90 06091
| 0.07 585 060091
e
| 06091
0.07 - 2,520
0.1 250
2)
125, 424
3)
125, 424
4)
125, 424
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-11111-10



00008

06091

. 125, 424
777777777777777777777777777777777777777777777777777777 679,799
77777777777777777777777777777777777777777777777777777 18,000
777777777777777777777777777777777777777777777777777777 268,000
777777777777777777777777777777777777777777777777777777 286,000
777777777777777777777777777777777777777777777777777777 965, 799
777777777777777777777777777777777777777777777777777777 803,000
77777777777777777777777777777777777777777777777 1,768,799
777777777777777777777777777777777777777777777777777777 308, 583
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000009

618
777777777777777777777777777777777777777777777777777777 30 9,201
777777777777777777777777777777777777777777777 2.078,000
777777777777777777777777777777777777777777777777777777 20 7,800
77777777777777777777777777777777777777777777 2.285,800
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0-0010

V0900O 0 -0001
SJ 60
RTPCOO0OO0O09
1 25|, 272 25,272
9
RTPCO0OO0O01
2 22|, 464 44,928
9
RTPCOOO0O2
3 17, 472 52,416
9
F10000
X 200 2,080 16, 000
19
F11000
62.0 2,176 34, 912
19
F12000
2. 79 7,000 19, 530
19
#01
S 570, 442 28, 522
#09
1.5 693, 058 9,820
60 31,400
1 12,190
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0-0011

(Gp) SS000133 0 -0002
Gp-Bp-28B [ 1 20m m
TS491
1. 000 21, 210 21, 210
#91
1 0
1 m 21, 210
A=5 _Gp-Bp-28B B=3 [ 1]20m
D=1 - E=1 -
F=1 - G=1 -
H=1 -
= 14,140*(1+50/)1200)*(1.00*2.00*1.00)
= 21, 210( 1
06-****+*+*_171111-10



0-0012

( ) S1020035 0O -0003
25 m
RTPCOO0OO0OO0O9
.500 25, 272 37,908
9
RTPCOO0OO0OO01
.400 22, 464 53, 913
9
RTPCOO0OO0OO0O2
. 800 17, 472 31, 449
9
FOOOOO0O3000O0
. 500 4, 000 2,000
FOOOO0O0O4000
. 343 21, 480 8, 290
FOOOOOO5000
106. 000 600 63,600
#09
% 123, 270 7,340
204,500
A=3000 F (kg) B=0.5 (kgl )
C=4000 F (kg) D=2. 44 (kgl )
E=5000 F () F=106 () )
= (kg) * ( + ) = 2.440000000/| * ( 1 + 0.37 3.34

B (

06 -
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0-0013

( ) S1020039 0 -00014
) 0. 1m3
RTPCOO0OO0OO9
2.300 25, 272 58, 125
9
RTPC0OO0OO0O1
3.800 22, 4614 85, 363
9
RTPCOOO0OO2
2.500 17|, 472 43, 680
9
FOOOO0O001000O0
0. 026 528, 000 13, 728
#09
11 % 187| 168 20, 5014
1 21, 400
A=1000 F ( m3) B=0.022 (m3/ )
= ( mB3) * 1 + = 0.022000000 ( 1 + 0.18 .026
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0-0014

( Gp) SS000137 0 -0005
m
TS495
. 000 830 1,830
#91
0
m 1,830
A=2 B=1 -
c=1 -
= 1,830*(1.00*1.00)
= 1,830 (
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0-0015
SPK23040152 0 -0006
Co ( ) DI D 14. 4km (Le18km ) 1 m3
42.35% 42. 40% 15. 25 % 00 % 2,28
( ) ) )
[ ] [ ] MTPCO0O0O 18-
10t 42.35% 21,96710t 20, MBPTO0001 8"
( ( ) ) ( )
( ) RTPC000(7
42.40% 18,824 21, RUPTOO00d7
TTPCO0O0O013
15.25% 145 ITZBT00013
EPOO1
2,264 0
A=1 Co ( ) B=1
c=2 DI D D=50 14. 4km (10.09km )
E=1 - ( )
MTPC00018T1 = | / ) * 1.01)
=|1,430|* (830 / |180) + (14,740.0) + 667 21, 9b7
2,263.3898 = 2,289.4000 *
([ 42.350/100*21,967/20,667]) * [42.350/42.350]
+ ([42.400/100*18,824/21,100]) * [42.400/42.400]
+ ([15.250/100*145/138]) *|[15.250/15.250]
+ [100-42.350-42.400-/15.250]/100
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0-0016

V10001 0O -0007
1
SPK23040411 0-0008
BT2t 2.9t 1 603 7,603
SPK23040410 0-00009
BT2t 2.9t 1 763. 763
2. 0Kkm
#91
1 0
1 8, 366
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SPK23040411 0 -0008
BT2t 2.9t 1 t
14. 15% 82. 74% 3.11% 0.00% 8,
) ( ) ( )
MTPCO0O1H
14.15% 7,730 7, MIPTO0O01H
2t 2.9t 2t 2.9t
RTPCO0O0OQ
41.50% 22,464 25, RIPTO00O0Q
( ) RTPCO0O0OQ
40. 83% 20,592 25, ROUPTO00O0Q
( ) ( ) EROO09
29. 709 0
TTPCOOO 1
3.11% 145 TZIBTOO0O1
EPOO1
7,603 0
A=1 BT2t 2.9t
MTPC0O0154 = o ( / Yy o+ * 1.01)
=441 *|(760 / 160) + (5,610.0) = 7,730
7,602.3121 = 8,606.4000 *
([14.150/100*7,730//7,190]) [14. 150/ 14.150]
+ ([ 41.500/100*22 464/ 25, 700] [ 40.,830/ 100 * 20,592/ 25.3001) [8R. 740/ (41.

06 -
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0-0018

60

SPK23040411 0O -0008
BT2t 2.9t t
14.15% 82.74% 3.11% 0.00% 8,
( ) ) (
+ ([3.110/100*145/138]) * [3.110/3.110]
+ [100-14.150-82.740-/3.110]/100

06 -

Frxkxx - 11111-10



0-0019
SPK23040410 0 -00009
BT2t 2. 9t 2.0km 1 t
14.21% 82.66% 3.13% 0.00% 8 6
( ) ( ) ( )
MTPCOOL1H4
14.21% 7,730 7, MIPTO0O01H4
2t 2.9t 2t 2.9t
RTPCO0O00(1
41.66% 22,464 25, RUBTO000d1
( ) RTPCO000(6
41.00% 20,592 25, RUBT000d6
TTPCO0O0O013
3.13% 145 T3BT00013
EPOO1
763. 3 0
A=1 BT2t 2.9t B=1 DI D
c=2 2.0km
MTPCOOL154 = N / )+ ( * 1.1)
= 1441 *|(760 / 160) + (5,610.0) = 7,730
763.2187 = 863.8500 *
([14.210/100*7,730/[7,190]) * [14.210/14.210]
+ ([41.660/100*22,464/25,700] + [41./000/100 * 20,592/25,300]) [82.660/ (41
+ ([3.130/100*145/138]) * [3.130/3.130]
+ [100-14.210-82.660-3.130]/100

06 -

Frxkxx - 11111-10



0-0020

X1000
Y1Go03
679,799
Y2999
554, 375
Y3999
60, 950
Y4999
60, 950
V09000 12,190
SJ 60, 950
Y3999
63,630
Y4999
63,630
SS000133 (Gp) 21A250B=3, D=1, E=1, F=1, G=1, H=1
Gp-Bp-2B 6 3A = Gp-Bp-2B,B=[ ]20m ,D=- E=
Y3999
204,500
Y4999
204,500
S10200835 ( 204A58000, B=0.5, C=4000, D=2.44, E=5000
25m 20UA= F (kg), B= (kg! ), C
(kg), D= (kg ), E= F
(), F= [/ )
Y3999
221,400
Y4999
221,400
S1020039 ( ) 221A40000, B=0.022
( 2211A= F (m3), B= ( m3/
Y3999
5,490
Y4999
5,490

06_******
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0-0021

SS000137 (Gp) 1A830B=1, C=1
m 5A = ,B=-, C=-
Y3999
-1,595
Y4999
-1,595
SPK23040152 .04 2A264B=1,C=2, D=50, E=1
Co( ) m3 A=Co ( ) , B= ,C=DI D
14. 4km (10.9km ), E=-( )
V10001 .07 8§, 366
585
FOOOO00O06000 .07 3, 000
H -2,520
#0041 C=1
C=
WO00O01 .1 2A50800,B=9, C=999
A=250 B= , C=
Y2999
125,424
Y3999
125,424
Y4999
125,424
R0O369 13, 936
125,424
G00O0O
679, 799
Z00212 | L 682, 0609
18,.0.0.0 0.0268
...... 682, 0609
18,000
...... 18000=682069*0.02638
Z0050 | L 682, 319
268 ,.0.0.0 0.2732

06_******
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0-0022

...... 682, 3109
268, 000
...... 268000=682319*0.3940 (0.]27
03)
G1000
286, 000
G2000
965, 799
zoo20 | 968, 319
803,.0.0.0 0.6588
...... 968, 319
1.2000
803,000
...... 803000=968319*0.8301 ((d. 6
(0.7906*1.05)
G4000
1,768,799
zoo3o | 682, 0609
308, 58 3...... 682, 0609
...... 309213=5225063*679799/ 11487
Z0031 2,285,800
618..618=10450*679799/ 11487195
G4100
309,201
G4800
2,078,000
zoo3s | 2,078,000
20[7,.8.0.0 0.1000
...... 989, 000
...... 207800=2078000*0.100
G6000
2,285,800
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0-0023

VO9000/ 0 -0001
SJ 60 31,400
SS0001303 - 0002 (Gp) A=5,B=3, D=1, E=1, F=1, G=1
_Gp-Bp-28B m 1 21,210
[ 1] 20m
S102001305 - 0003 ( ) A=3000,B=0.5,C=4000, D=12.
25m 1 04,500
S102001309 - Q0004 ( ) A=1000,B=0.022
( ) 1 21,400
0.1m3
SS0001307 - 005 (Gp) A=2,B=1, C=1
m 1 1,830
SP K2 30400 1-5020 0 6 A=1,B=1,C=2,D=50, E=1
Co( ) m 3 1 2,264
DI D 14. 4km 10. 9k m
V100010 -Q007
1 8,366
S P K2 30400 4-1010 0 8 A=1
BT2t 2.9t t 1 7,603
S P K2 30400 4-1000 0 9 A=1,B=1, C=2
BT2t 2.9t t 1 763
2. 0km
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0-0024

(0. 4. |8)(C1. 5. 9) (2. 6) (3. 7)
FOO0O00O01000 528, 000 999
FOO0O0O0O03000 4,000 999
FOO0O0O0O04000 2,480 999
FOO0O0O0O05000 600 999
FOO0O00O06000 -36, 000 999
H
P794
F10000 2,080 999
X
F11000 2,176 999
F12000 7,000 999

06 - * * * *
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0-0025

Wo0001

29

500
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0-0026

oo ooOoOM~MNMNUAOTOMNMNOMOOMNSO
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0-0027

Y1 GO 3

679,

799 4

46,

571

Y2999

Y3999

Y4999

V09000

0-00

01

SJ

60,

950

10,

215

Y3999

Y4999

SS0001

303- 0 Q

02

[

(Gp)
_Gp-Bp-28B

1] 20m

63,

630 -

Y3999

Y4999

S10200

305- 0 Q

03

204,

500 1

270

Y3999

06-******.171111-10




0-0028

Y4999
S10200309- 000 4 ( )
( ) 21,400 187, 168
0. 1m3
Y3999
Y4999
SS000137- 0005 (Gp)
m 5,490
Y3999
Y4999
S P K2 3 0 400-105020 6
Co ( ) m 3 .04 90 L=13348
DI D 14. 4km 10. 9k m
V10001/0-0007
.07 585 460
FOOOOO0DOG6000D0
H .07 -2,520 P07 9 4
0041
250 0
W0 00 1
1 250 0
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0-0029

Y2999

Y3999

Y4999

R0 369

25,424 1

25,424

06-******-11111-10




